作业答案
4-1．答：

	
	角频率
	频率
	周期
	幅值
	有效值
	初相角
	t=0 s
	t=0.01s

	u
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	50
	0.02
	311V
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	45°
	220V
	169.3V

	i
	628
	100
	0.01
	20mA
	14.4
	-100°
	-19.7mA
	-15.2mA


4-2．答：

（1）i1滞后，i2超前，
[image: image1.wmf]j
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4-4．答：（1）u=80
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（2）u=100
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4-7．答：（1）求出感抗XL；
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（2）求出电流I的有效值；
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（3）写出电流i的瞬时值；
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（5）相量图；
4-8．答：（1）求出感抗XL；
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（2）求出电流I的有效值；
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（3）写出电流i的瞬时值；

i1=194.5sin(314t-70°)A 
（4）相量图；
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[image: image31.wmf]W

=

´

´

=

=

-

2

.

3

10

51

628

3

2

2

L

X

L

w


     
[image: image32.wmf]A

70

8

.

68

2

.

3

20

220

2

2

°

-

Ð

=

°

Ð

=

=

j

jX

U

I

L

&

&

；I2=68.8A

i2=97.2sin(628t-70°)A 
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4-10．答：（1）
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4-11．答：(1)
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4-12．答：（1）
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所以 
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4-13．答：（1）
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4-14．答：
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4-15．答： 

（1）电路的复阻抗
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  （3）画相量图；

  （4）
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4-16．答： 
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4-17．答：(1)
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4-18．答：
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        所以：线圈

4-19．答：(a)  7A   (b) 4A   (c) 2A  (d)  15A  (e) 16A
4-20．答：(1) I=50A  (2 )电阻  70A （3）电容  10A
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该收音机的波段覆盖范围1.5MHz～1.8MHz。
30°





图题4-6解答图 相量图
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图题4-8解答图 相量图
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图题4-10 解答图 相量图
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图题4-11 解答图 相量图
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